| C 1 RS

2019/01/27

]#iE
FIEEZECARNL—R—IILEREELXEBRIBBEFKS
3
" : x| > T 1 o 5 : amma B V5 21 x @
F—L ! f'g 1 i D 5 fz £ & 4 I i =
v ; Y 4 ‘ | 4 3= vy =
fiz U E ) A N R {7!; % oA B = R = )= =1 xR
7 i
1 =ZUFJER1T O 30 |O 30 2 4,2 0 1.000 |6 0| MAX 150 106 | 1.415
2 EHoiE O 3 O 30 2 4 2,0 10006 1 6000/ 170 138 | 1.232
3 Safilvaitim& ® 23 O 32 2031 1 050 |5 51000 | 210 205 | 1.024
4 JUWA -3 | O 32 2 . 3/1 1 0500 |4 50280 /[ 195 195 | 1.000
5 TA L URE O 30 1.2 1,0/ 100030 MAX 75 45 | 1.667
6 T+—NILRURX ® 03 ® 23 22,02 00002 6 03] 160 183 | 0.874
7 kI ZEEK ® 033 0-3 220 2 0000 |0 60000 94 152 | 0.618
8 FHEEFEEE 0-3 111 0 10000 [0 3 o0000]| 45 75 | 0.600
9 FEZELVA 0 0 0 0 0000/ 0 0 000]| 0 0 | 0000
Ba=FR2a K158 FEOSA BE=BR-HAK vty FE=Btyrtkty bt BAE=FBAT%XS

XAEDEFERX. ARHEEANBRANL—FR—LBECRELFET




| C 2 BN e 2019/01/27 5

FIREECAFNL—R—ILREBREBBREBFAE

TEIVIRER NNy IFEYIED) R (HEN)
N € R . + 7 J
1 |=BUFIRIT 2 | 6 | 181 81 1| 448 1 [Juna 2 | 9| 19 19 7 145
2 |mmmL 2 | 7| a7 89 15 | 41.0 2 [Safilvait i 2 | 10| 108 2 12 143
3|74 v 13| 8 35 6 40.7 3 |mmmL 2 | 7| 8 16 8 113
4 |Juma 2 | 9 | 36 | 119 28 | 317 4|7+ —r Ry 2 | 8 | 8 19 1 111
5|7+ —riLRy R 2 | 8 | 2 81 3 | %3 JEEN 2 | 6 | 8 9 5 %
6 [Safilvadt st 2 | 10| 304 | 108 19 | 355 ADEEELS 2 | 6| 55 8 2 65
ACEEEL 2 | 6 | 7 55 26 | 3ni 7|74 13| 3 12 9 56
8 |RmESER 13| e 21 9 24.1 8 |mEmESES 13| o 5 i 27
TEYYREE (%) =FR-FTH*100 BBR=THYIEBR+IAVIBRY—TER
o | & = | "
" F—L# § ;Ez o ::ﬁ i F—L# é ;g g8 |22 %
1|74 > i N 12 4.00 1|71 i 1 13 9 |33 |10 2.2
2|7+—riLkyx 2 | 8 19 2.38 2|7+ —r Ry 2 | 8 |2 | 1 |42 |2 | 10.0
3 |safilvadt st 2 | 10 2 2.30 JEEVA 2 | 6 || 5 |5 | 14| o8
4 |mEEL 2 |7 16 2.29 4 |safilvait 3 2 [ 10 |20] 12 |60 | 20| 94
5 [unA 2 | 9 19 2.11 5 |mmmL 2 | 7 |wer| 8 |55 | 27| 90
6 |RmEEEE 13 5 1.67 6 [Junn 2 | o |ws| 7 || 19| 85
7|=BUFJR 6 9 1.50 T |HEmERER 13| e | 1|6 | 48
8| FanmEE 2 | 6 8 1.33 ADEPELS 2 | 6 |8 | 2 |17 2] o8
T2y FBEYDIAY I REAR (K) —RRTEBEY MK FIBEE (%) = (T ERAT—A X101 BRX5-RAxL5) TR

H—TLS—THINR

o | B m &
I S LA, Zlyl=z|lw |y % %
fi g1 F| & | & 2
# | &
| |[=®UFIsRS 2 | 6 [ 93 |41 |17 |2 59.7
2 |safi lvadtsmis 2 |10 [ 178 | 81 | 41 | 56 57.0
3|71 1| 3 |40 | 16 ] 13| 11 56.3
4 [mEEL 2 |7 || 4| 32| 38 53.8
5|74+ —LRYR 2 | 8 [149| 60 | 36 | 53 52.3
HEEPELS 2 | 6 | 132| 4 | 35 | 51 48.1
7 |JunA 2 | 9 |64 | 45 | 48 | T 42.1
8 |HTRMEEEE 1| 3 |6 | 8 | 13|30 24.2

H—TLI—THUE (%) = EIIE] x 100+ [R] x 50) +#T%

RAEZEDEFIER. ARPHENEBRANL—R—ILBECRELET .



KE) & A 5215 > = > 7 (Best15)

FIREECAF/NL—R—ILREBREBBREBFAE

2019/01/27 55

FEYIRER (NN IT7IYVIED) B/

# |t - # # | E 7 A o
= K4 7ot | B §§z g 181 % = . K4 Fos% | B g{ ; 2 IR
1|tm & "REBL 2 7 38 19 | 2 50.0 1 |ngk #hER JUWA 2 9 40 2 1 43
2 |mE BX BTMU 2 6 55 27 4 49.1 2 |FHFT & HI740T7| 2 34 1 1 36
3 |mmE m BTMU 2 6 33 16 | 3 48.5 3 |E gk "Rt 2 28 4 1 33
4 \IUF E# AISIN 1 3 31 15 | 3 48.4 4\mE BA BTMU 2 27 1 3 31
5 |iBXR Kig R X 2 8 31 14 1 45.2 4 [Kil 2AKER R X 2 20 4 7 31
6 (e #iE Ry X 2 6 29 13| 2 44.8 6 [#mE B JUWA 2 26 2 2 30
1|E+E =8 FREESEl 1 3 9 4 1 44.4 6 [mE =% YT Y7 2 27 1 2 30
8 |k 1RER JUWA 2 9 91 40 9 44.0 8 (A A% ~IZERK 2 23 0 2 25
8 (4l & FasEE | 2 6 25 1 2 44.0 9|LE %B& REiGL 2 19 3 1 23
0|88 X% JUWA 2 9 39 17| 6 43.6 9 |iEA K Ry 2 14 9 0 23
11|08 fEKER FREESE] 1 3 21 9 2 42.9 9 [JA T JUWA 2 20 2 1 23
12|&s #4 "RimL 2 7 66 28 | 7 42.4 12|%E sk I LY7| 2 13 9 0 22
12|KE "L 2 7 33 1| 2 42.4 13|4a@E Hih Ry 2 18 0 3 21
14|12R BH# AISIN 1 3 12 5 1 41.7 13|88 XK= JUWA 2 17 3 1 21
15|#2@ Hih RUX 2 8 44 18 12 40.9 15|Beruk Endale SertsulH 2T T7| 2 13 5 2 20

TRy O REE (%) @A TEx100 BRATE v BRI IOy BRI —JBR
L. | ® t ~ | & N
B s rus | 8| 1 S B s rus || 0| B8 222
% p #
1|RR REE AISIN 1 3 7 2.33 1[RIR BE AISIN 1 3 6 2 3 0 |45.8
2 |BX K Ry X 2 8 9 1.13 2 U ER AISIN 1 3| 15| 4 6 2 |33.3
3 |ZR a3 Y4007 2 10 9 0.90 3|Uo bk <UL AISIN 1 3 9 2 3 2 |25.0
4lyH k<UL AISIN 1 3 2 0.67 4 |10 AKER Ko X 2 8 | 33| 7 6 4 |22.7
4 |tEaK BiX AISIN 1 3 2 0.67 5 (Bt & FEEEEE 1 3 11 1 6 1 |20.5
6 [Beruk Endale SertsulHZ 4L T7| 2 8 5 0.63 6 [RE —& BTMU 2 6 13 1 7 2 [17.3
7|=E = "REL 2 7 4 0.57 7 [mE &k Ry X 2 8 | 25| 3 9 4 17,0
T|ES #% REREL 2 7 4 0.57 8 |BEAX BEZN RREL 2 5 17 2 6 3 16.2
9 [y KeR KRR 2 8 4 0.50 9 |EE EA JUWA 2 9 | 25 | 2 8 0 [16.0
9 [heE ®— FasEE | 2 6 3 0.50 10|@0 &% YT 57| 2 9 | 32 | 4 7 3 | 156
9 |HhE #Hik R X 2 6 3 0.50 10|18 &= BTMU 2 6 16 1 6 0 15.6
12|EE £A JUWA 2 9 4 0.44 12|mE BX BTMU 2 6 | 30 | 3 9 3 |15.0
12|@3 Bz Y7057 2 9 4 0.44 13| it FasEE | 2 6 | 17| 2 4 3 [13.2
14| L@ && RRiEL 2 7 3 0.43 143K BX RRiEL 2 6 24 3 6 6 12.5
15| 20T I BTMU 2 5 2 0.40 14| L@ 155 BRiGL 2 7| 14| 1 3 0 [12.5
Tty FBEYOIOY I REAR (K) ~BAHELY P& T_OBRE (%) ~(F—ERI—Rx 1001 MExB_KA=25) &

= t |23 |53 53
I K4 oz |2 |7 E|2|? 5
fi gl & -] L |&|Z

# | &

BT #7097 2 | 10 [ 69 | 30 | 14 | 16 [66.7
2 |mE @A BTHU 2 | 6 |3 | 18] 6 | 10618
3 |mem mA BTHU 2 | 6 |26 | 15| 2|9 |65
4|mR m AtsIN | 1| 3|3 |5 ] 0] 8 |66
5 | RE mRmL 2 | 7 |3 | 15| 11| 9 |586
6 |mm B BTHU 2 |6 | 12| 6| 2| 4 |583
7 |%8r i BTHU 2| 5 || 8| 6|5 |570
8 |#7E WA A2 x 2|6 |20 | 7| 9| 4 |575
9|an & basEk | 2 | 6 |34 | 14| o | 11 |544
10[12m &k D2 2 | 8 |8 | 37| 12| 32 |531
1&g mREL 2 | 7 | e [ 17| 9 | 15 |524
12|A% 8t 474097 2 | 10 | 83| 22 | 11| 20 |s19
13| 55— basmk | 2 | 6 | 58 | 23 | 14| 21 |517
14|54 # 474097 2 | 10 | 40 | 14 | 12 | 14 500
15|85 gz EREL 2 | 5 |8 | 10| 7 | 11 |4s2

Y—TLo—TRIE (%) =R [E] x 100+ I [R] x50) +$T#

KEAZDEFER., ARHEFEABERANL—R—ILBERCRELET .




SINSY I SEE

AEE

5 901

FER 2019/01/26

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEY 125 JURY : B FI8h F—LI tyb [ B | 1 2 3 4 5 | &%
BASABERE : 13:00 £ FE: JIAR #HR =ZUFJRTT 3 2 25 25 25 75
RTHEM . 14:07 Bl T EE HE FISERK 0 1 14 13 16 43
HAEME . 00107 HES: EH TR HARRH] 0019 00:21 | 00:21 o1-ot
=ZUFJERTT VS ~ 32 EK
1set 2set 3set 4set bset 1set 2set 3set 4set bset
1 8 2|1 20 4 1 2 4 B &N B OB wiE EX 118 1 11 18 1 11 18 1
(@) =ie E& a—F Il $REE (10 (15 (10) (15)
4 20 13 2 8 12/ 2 8 13 1§08 & " 0% 18K 14 19 5 14 19 5 14 19 5
©) 10) a3 (M 2 B = 1 (20) (20)
§ - 5 - § 5A LTt H | s | mar | - ;
i HE Be EY: i R R & B £ SF i
RIEE (%) 46.7 90 42 1 Rk 90 24 14 26.7 RIEE (%)
REE (%) 40.0 5 2 1 (RN THRYY) 22 4 5 18.2 REE (%)
v FEH(R) 1.67 — 5 — Jowvy — 6 — 2.00 vy FEH(R)
SR (%) 12.0 73 3 4 H—7 45 1 7 2.2 SR (%)
ARIIEE (%) 64.5 — — — H—JLi—J — — — 45.6 ARIIEE (%)
F—LTHI b+ 1 — 25 — HFOIR — 12 — 4 F—LTHIE
163 75 1 &5t 135 43 21
Histy b TEvY (ISP EE PP Jovy H4—J H$—JLI—7J
- i bvomoe R 5 voe s 2 |as 5 A LI
ST B2 4 53R E i%‘;‘iﬁfaigwg
1 mE BA 3 mmEm 2110 3 | 47.6 33 |4 1.1 250 |1 03 [15 2 1.3 167 [11 7|4 818
2 | ¢ HR ER 3 mEnm 1340 308 1.33 [o 0o - 0 12,0 02 4.2 00 0 -
3 | L &% @mA 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 84 1| 563
4 T8 &= 3 m mEm 1051 500 1.67 o 0o - 1, 03 [8 0/0 5 156 0 0 -
5 Bt 18— 0
7 B - 300 0 0o o0 - - 0o o0 - 0 - 8 1/0 6/ 3.3 J]o 0 0 -
8 %07 % 3 mEm M 71 636 233 |0 0 0 - 2| 067 |10 0 3 5 50 [19/8 6| 57.9
10 ik HE 1 O 1.0 0 0.0 0.00 |0 0 0 - 1010 [2 0/0 0/ 00 |0 0 0 -
1 B P 0
12 A 1 ] 6 2 1 333 200 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
13 B®E B 3 mOm 19 111 57.9 3.67 |1, 1.0 1000 [0 - 9.0 0 1 2.8 00 0 -
17 | L & B 0
19 EZR & 0
20 HE Hth 3 m mEm 9 3 0 333 100 [0/ 00 - 0 - 9 0/0 5| 139 o 0 0 -
F—L&F 3 90 42 7| 46.7 1400 [5 2|1 4.0 |5 167 |73/ 3 4|27 120 |38 19 11 645
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
kIS EK i 18 R E T8 & 2 |s 3 T8 kw2 = g g 2
Bz e slp R X i%‘;&ﬁ%‘ﬁigmg
1 Wil E— 3 mEn 1433 21.4 .00 |4 0 2 00 [3] 100 |6 0 3 0 -125 [27/10 6| 481
5 B R 3 m Em 00 0 - - 00 0 - 0 6 00 3| 125 |o 0 0 -
6 N E 0
10 BR =H 2 00 4101 0.0 0.00 |0 0 0 - 0 - 3.0/0 0/ 00 |3 0 1 167
1| ¢ M ant 3 m Em 45 11 6 24.4 3.67 |18 4 3 222 |o - 8 1 /1 2| 156 |0 0 0 -
12 | L #E s 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 2158 42.9
14 A0 # 3 m Em 9 2 2 2.2 067 |0 0 0 - 1003 [4 0 1 1 0.0 [17/6 5| 500
15 WA RE 2 O o 00 0 - - 00 0 - 0 - 3.0/0 0/ 00 Jo 0 0 -
18 BE £ 3 m En 7.3 1 4.9 100 [o 0o - 1003 [5 02 0/ -100 |0 0 0 -
19 "N 3 mEm 1M.5 1 455 .67 |0 0 0 - 103 [8 0 0 1 3.1 00 0 -
20 BT fth 2 o O 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 JOo 0 0 -
F—L&E 3 90 24 14 26.7 8.00 |22 4 5 182 |6 200 |45 1 7 7 2.2 |68]21 20| 45.6

Xty bv—

W= —TFT 4T A2\—

O=%REF L=YU~0O

THEYYVREE (%) =FR--FTHx100

TEYIRERY (F) =BR-HHEY b
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




SINSY I SEE

He®Es 902 2 MR

2019/01/26

Bt BR TGP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEY 168 JURY : B FI8h F—LI tyb [ B | 1 2 3 4 5 | &%
BHBARERD - 14:40 * T/ XH #1T Rt 3 2 25 18 25 25 93
WTERD:  16:20 Bl |/ JIAER #338 JUWA 1 1 21 25 20 21 87
AN . 01:40 HEE: #BA @@= samsRa| 00:23 1 00:20 | 00:23 | 00:25 01:31
- VS JUWA
1set 2set 3set 4set bset 1set 2set 3set 4set bset
5 1 6 5 1 6/5 1 6|5 1 6 ILEF ES B OB ARHE BE 3 13 4 13 4 143 13 4 13 4 14
INER 8 a—F JRA Fn
212 1621 2 16(21 2 8|21 2 8 1§08 & " 0% 18K 5 11 14 3 5 115 11 14 3 5 11
2) (15) @2 (12 15 (12) 2 B = 1
Sl I I i o P
1 ifl T TR ER il BtE T BR xR ST
REE (%) 36.2 138 50 8 TR 143 52 14 36.4 REE (%)
REE (%) 31.3 16 5 1 (RN TEYY) 20 8 1 40.0 REE (%)
v FEH(R) 3.00 — 12 — Jowvy — 1 — 1.75 vy FEH(R)
SR (%) 8.4 92 4 17 H—7 88 2 8 8.0 SR (%)
R (%) 48.7 — — — Hy—JLi—7 — — — 31.7 R (%)
F—LTHI b+ 1 — 28 — HFOIR — 26 — 6 F—LTHIE
230 94 25 &5t 231 87 22
Histy b TEvY (ISP EE PP Jovy H4—J H$—JLI—7J
= s - * 5 - 2 | 5 e alwm B = TR g
5 #
1| C KHE s 4 ' m mENE 17 41 235 .00 [4 00 0.0 0 - 5 1/3 4 8.3 00 0 -
2 =iE 2 4 ' m mENE 310 333 0.25 |0 00 - 4 100 |14 0 1 6 8.9 00 0 -
3 (L mmoRE 4 L L L L 00 0 - - 00 0 - 0 - 0/0 00 - 311210 54.8
5 A B 4 mE N 44119 5 432 475 |11, 5|1 455 [3 075 |18 1 5 6 6.9 |22 8|6 500
6 MR BK 4 MmN 310 333 025 |0 00 - 1 025 [16/1 4 5 7.8 00 0 -
8 Fix A 2 [ I | 31(10 0 323 50 |0 00 - 10 05 |[7 0 2 4 7.1 |13 5|5 517
9 | L KR &’ 0
11 1Pk R 0
12 B R 2 oo 00 0 - - 00 0 - 0 - 0/0 00 - 00 0 -
14 B R"E 0
15 1L 4 2 O O 00 0 - - 00 0 - 0 - 3o/ 0/ 2 167 |0o|o o -
16 AR 2N 2 m m 152 1 133 100 |1]0 0 0.0 0 - 7.0 13 7.1 (1314 231
21 tHE 1&E 4/ m mE N 2513 1 520 325 |0 00 - 3 075 |10 1 0 2| 150 |0o|0 o -
22 BHE &M% 2 | O O 00 0 - - 00 0 - 0 - 2/0/ 1,0 -125 o]0 o© -
F—LEEH 4 13850 8 36.2 1250 |16 5 1| 31.3 |12 3.00 |92 4 17|32 84 [79 26 25 48.7
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
JUNA H 78 & R s som s R |a 5 N LI
Brri e slREE B L |ReE E R g |BRRE 2 BT 2
5 #
3 | ¢ smA Fna 4 m mE N 205 1 227 1.25 [1 00 0.0 0 - 1800 2 2.8 |29/3 /10 276
4 BE X% 4 m mE N 17,93 529 2225 |0 00 - 0 4 02 3 1.8 00 0 -
5 aH @K 4 m mE N 211 2 418 275 |0 00 - 3 075 |14 0 2 4 3.6 41 2| 500
8 i R 0
10 | L #u EX 4 L L L L 00 0 - - 00 0 - 0 - 0/o0 00 - 18 3|8 389
11 HEE EA 4 " m E N 2010 500 025 |0 00 - 3 075 |10 1 0 4| 20 |00 o0 -
13 IR FEER 4 " M E N 42017 4 405 425 |18 8|0 444 |o0 - 14.0/2 6 7.1 00 0 -
14 A B 4 m MmN 3709 4 243 225 |1 01 0.0 1) 025 |18 1 2|9 153 |27 71 417
F—LEEH 4 14352 14 36.4 1300 |20 8 1| 400 |7 1.75 |8 2 8|28 80 [73 14 27 317
XUty hY—9 0 B=R4—F 4 T AvnN— O=XKBF L=UAKDO
TRUTREE (%) =@m=ITHx100 TRYORERR (K) =BA-HBEY MK JOvIREAR () =FA-HBEY MR

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,



SINSY I SEE

HAEES 903

FER 2019/01/26

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEH 75 JURY : B FI8h F—LI b | R | 1 2 3 4 5 | &%
BEUARERT :  16:46 F & : #HE HE SafilvaitiE& 3 2 25 23 25 20 15 108
WTERD:  18:34 Bl T/ X #T TH—NLRY R 2 1 21 25 17 25 9 97
SRR 01:49 HER: EA & HAMRI[ 00:23 1 00:23 | 00:18 | 00:21 | 00:12 | 01:37
SafilvaitiE& VS TA—NIRU R
1set 2set 3set 4set bset 1set 2set 3set 4set bset
15 13 1013 10 3 (15 16 10 16 10 3 15 16 10 s ES =B ¥ £4A 8 14 11,8 14 5 8 14 5 3 8 14 3 8 14
Mm@ 1) ae 1 FE —17 a—F 1 a2 (1) 1) 1
14 12 3|15 14 1214 12 3 15 14 12 14 12 3 17508 & & O 18K 3 15 7,3 15 7,3 15 7 15 7 5 15 7 5
8) (8) (13) 2 B = 1 (12) (12 an | (1
e - | mEl R I R R
i HE B EY: i R R & B £ SF i
REE (%) 35.8 137 49 10 TR 129 48 18 37.2 REE (%)
REE (%) 33.3 15 5 3 (RN T7RYY) 7 4 1 57.1 REE (%)
v FEH(R) 2.60 — 13 — Jowvy — 12 — 2.40 vy FEH(R)
SR (%) 8.8 108 8 18 H—7 97 5 13 1.2 SR (%)
R (%) 56.0 — — — Hy—JLi—7J — — — 52.3 R (%)
F—LTHI b+ 4 — 38 — HFOIR — 32 — 7 F—LTHIE
245 108 28 &5t 226 97 31
Histy b TEvY (ISP EE PP Jovy H—J H$—JLI—7J
—— Hy - # 5 - 2 |l 5 o B e TR
Safilvadtifi& ;% 1 2 3 4 5 g;i _% q,; gg§ _% :jr q'; g{'g 9;% :% §g :;Z %
5 #
1 |c &8 B8 3 00O O 00 0 - - 00 0 - 0 - 410 00 0.0 3.0 1 16.7
2 L #@E E 0
3 wE 5 m m W ® m|[2 1 0 500 0.20 |0 00 - 2 040 |22 1 3 8| 102 |00 o0 -
5 [ L mst i 5/L L L L L|]O|O O - - 00 0 - 0 - 0/o0 00 - 279 523
7 +RE K— 0
8 =F Bth 3o O O 311 333 033 |1 1|0 1000 [0 - 2/0/ 2 0 -250 |0|0 O -
9 BAIER SmAs 0
10 #_T & 5 M M ® H m|39 15 3 385 300 |4 01 0.0 0 - 15.0/3 5 3.3 |38(22/ 9 69.7
12 E Ht 5 m W m ®m m|[15 3 0 200 060 |0 00 - 3 060 |6 0 1 1 0.0 00 0 -
13 EH B 3 mom of10/3 2| 300 1.00 [0 0 0 - 0 - 5/0/ 2 0 -100 |[0|0 o -
14 AIF EE 5 M WM W N M|34 13 2 382 260 |0 00 - 10 020 |22/ 2 4|6 114 [19 5 6| 42.1
15 Beruk Endale Sertsu 5/m m m m m|2 10 2| 385 200 |10 4|2 400 |4 o080 |17 2 2 1] 103 |00 o0 -
16 Hl % 4 O m m m|(8 3|0 375 0.75 |0 00 - 3 075 |15/ 3 1 3| 233 |1]/0 0 0.0
F—L&F 5 13749 10 35.8 9.80 |15 5|3 333 [13 260 |108 8 18 24| 8.8 |83 34|25 56.0
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
74— Ry X i plex 27 lnwx 2 le 2 lrexs 2 255 2
S Brri e slREE B L |ReE E R g |BRRE 2 BT 2
5 #
1 NG 154 5 0000 00|o 0 0 - - 00 0 - 0 - 7.0 1 2 3.6 33,0 100.0
2 ME BA 0
3 Kl AKER 5 M M W H M|[39 15 3 385 300 |6 31 5.0 [2 040 |20 4 3 2| 188 |16 2|7 344
4 ma Bz 0
5 ER f2AER 4 mEEE E|14 3 3 2.4 0.75 |0 00 - 0 - 12.0/0 2 4.2 00 0 -
6 | L #IE R 5/L L L L L|fO 0]O - - 0 0 0 - 0 - 0o/o0 o0/o0 - 17,71 61.8
7 ik 17 5/m ®m m m ®m|[3 0 1 0.0 000 [0 00 - 0 - 14,.0/0 5 8.9 00 0 -
8 A &Hih 5/ m W m W W25 11 8| 440 220 |0 00 - 0 - 17 1/3 5 8.8 |49/20| 11 520
10 Hh 3% 0
11 =2 BS 2 ' m O 7021 286 .00 [1 170 1000 |0 - 60 0 1 4.2 00 0 -
12 | C #M@ & 3/o o O 00 0 - - 00 0 - 0 - 3o/ 1,0 -83 |0o|0 0O -
13 |L B2 Rs 0
14 BA X 5 M W W W M|[2 8 0 400 1.60 |0|0 0 - 7/ 1.40 |1000/[3 2 -25 [1 0 1 500
15 hE ik 5 M WM m H Mm|21 9 2 429 1.80 |0]0 0 - 3 060 |8 0 2 2 0.0 00 0 -
F—L&E 5 129 48 18 37.2 960 |7 4|1 571 |12 240 |97|5 13 21 7.2 |86/32 26 523

XtHEEY bY—0 0 B=RE—FT 425 AN—

O=%REF L=YU~0O

THEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERY (F) =KRATHBEEY ¥

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




SINSY I SEE

HaES 904

FER 2019/01/27

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEY 50 JURY : B FI8h F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS 0 10:00 F FE: MR MR TA DR 3 2 25 25 25 75
BTEE: 1100 B E: EE B FEEEEER 0 1 17 18 10 45
HABM . 0001 HES: EH TR HAH| 00:20 00:19 00:16 00-55
TA R VS FEEEEEE
1set 2set 3set 4set bset 1set 2set 3set 4set bset
14 12 9 14 12 9 14 12 9 ElE B B B INE Bt 75 1.3 5 1.3 5 1
(6) (6) 3) BRI a—F (3) (0
4 15 1 4 15 1 4 15 1 1§08 & " 0% 18K 12 9 1112 9 11,12 9 1
(8) (8) (16) an 2 B = 1
- - - - - SALTI b o0 1536 ot - -
i HE B EY: i R R & B £ ST
RIEE (%) 40.7 86 35 6 Rk 87 21 9 24.1 RIEE (%)
REE (%) 36.4 " 4 1 (RO T7HRYY) 1 0 0 0.0 REE (%)
v FEH(R) 4.00 — 12 — Jowvy — 5 — 1.67 vy FEH(R)
SR (%) 20.2 73 9 10 H—7 47 1 6 4.8 SR (%)
ARIIEE (%) 56.3 — — — H—JLi—J — — — 24.2 ARIIEE (%)
F—LTHI b+ 2 — 19 — HFOIR — 18 — 4 F—LTHIE
159 75 16 &5t 134 45 15
Histy b TEvY (ISP EE PP Jovy H4—J H$—JLI—7J
ok i . % Y . 2 |a o gy B R
1 | C iR @ 3 m mm 1750 29.4 1.67 [0 0 0 - 0 - 6 1 3 1 8.3 [33/15 10| 60.6
3 O 1 O 00 0 - - 00 0 - 0 - 8 00 7/ 219 o 0 0 -
4 AR B# 3 m mm 1251 41.7 1.67 o 0o - 7 233 |6/2/0/3| 48 |0 0 0 -
5 HE K# 0
6 ER BB 2 00 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 00 o0 -
8 =@ @l 2 00O 0o o0 - - 0o o0 - 0 - 3,00 1 83 [0/0 0 -
9 HERA B 3 mEm 5.2 2 400 0.67 |0 0 0 - 2| 067 |13 0 3 7 7.7 o 0 0 -
10 | L 8K BF 2L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 1.0 0 00
1 WA 15 1 O 11,0 100.0 .00 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
12 T E 3 m mm 3115 3 | 48.4 500 |10 4 1 400 |o - 154 26 33 [0/0 0 -
14 Uk eyA 3 mEm 17,6 0 353 200 |0 0 0 - 20 067 |9 2 2 3 20 [0/0 0 -
15 A BE 3 mmm 31,0 333 033 |1 .0 0 00 1 03 [12.0/0 5| 104 |0 0 0 -
16 BR = 1 O 0 0 0 - - 00 0 - 0 - 1t/o/0/0 00 11,0 100.0
18 | L &K 2=F 3L L L 00 0 - - 00 0 - 0 - 0,0/ 0 0 - 5 0 3| 300
F—LA&F 3 86 35 6 | 40.7 11.67 |11 4|1 364 |12 400 |73/ 9 1033 202 |40 16 13 56.3
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
. Hy - ® 5 - % |o = e alw B e TR g
TRIEEER 202005\ B8 E P BEE Z B oL BERE 2 2VY 2
] 5] 7 R
1 Ait+E R=E 3 m mm 9 4 1 444 .33 [0 0 0 - 103 [9/0 0 1 28 (00 0 -
3 Bl #A 30 m m 192 1 105 0.67 |0 0 0 - 103 |4 03 0| -188 |6 1 1 250
4 INE Bt 0
5 | ¢ fE AR 3 mmEn 2109 2 429 300 |0 0 0 - 1003 [7 0/0 0/ 00 |20 1 6 200
7 ERK B2 1. 10/ 0 00 000 |O 0 0 - 0 - tio/ 0o/ 1 250 [1 /0 1| 500
9 A8 5E 3 m mEm 30 5 4 16.7 1.67 [1 /00 00 1003 [9 01 2| 28 |18 4 3 306
1 Bt B 3 m Em 2.0 0 00 000 |0 0 0 - 103 |11 11 6| 25 |o 0 o0 -
12 Fa NE N 3 m Em 5.1 .1 200 033 |0 0 0 - 0 - 5.0 0 1 50 [0/0 0 -
15 | L &H 5% 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 5.2 2 200
20 WA AT 1O 0 0 0 - - 00 0 - 0 - 1/0/ 10 250 [0/ 0 0 -
F—LaE 3 87 21 9 | 24.1 700 |10 0 00 |5 167 |47 1 6 11 48 |60 8 13| 242

XtHEEY bY—0 0 B=RE—FT 425 AN—

O=%REF L=YU~0O

THEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERY (F) =KRATHBEEY ¥

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




SINSY I SEE

#AEES 905

FER 2019/01/27

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEH 128 JURY : B FI8h F—LI b | R | 1 2 3 4 5 | &%
BELARERT :  11:40 F & : JIAR #HR SafilvadtiEd 2 1 25 19 19 25 14 | 102
BTEM: 134 B B RH #T JUWA 3 2 22 25 25 20 16 | 108
AR . 02:01 HES: E E=% SAABERT[ 00:26 | 00:23  00:22 | 00:22 | 00:16 | 01:49
Safilvadtigi& VS JUWA
1set 2set 3set 4set bset 1set 2set 3set 4set bset
16 10 3 15 16 10 10 3,8 16 10 16 10 3 s ES =B AEE EE 3 13 4 13 4 143 13 4 13 4 14 3 13 4
9 @) @) (1) 1) a3 FE —17 a—F AR FE
15 14 1214 12 3 14 12 14 12 3|8 14 12 10518 B H 15518 8 11 14,3 8 11,8 11 14 3 8 11 8 11 14
9) (8) (8 3 B = 3
e A I I RN
i HE B EY: i R R & B £ SF i
RIEE (%) 35.3 167 59 9 Rk 173 67 14 38.7 RIEE (%)
REE (%) 22.2 9 2 2 (RO T7HRYY) 20 6 2 30.0 REE (%)
v FEH(R) 2.00 — 10 — Jowvy — 12 — 2.40 vy FEH(R)
SHERE (%) 10.0 102 4 " H—7 108 5 1 9.0 SR (%)
R IhEE (%) 57.9 — — — H—JLi—J — — — 45.6 RIhEE (%)
F—LTHI b+ 4 — 29 — HFOIR — 24 — 4 F—LTHIE
269 102 20 &5t 281 108 25
Histy b TEvY (ISP EE PP Jovy H—J HY—JLi—J
—— Hy - # 5 - 2 |l 5 o B e TR
1] )
1 |c &8 B8 3.0 o ofol oo - - 00 0 - 0 - 410 0 2 125 |4/3 1 815
2 | L #E E 1L 00 0 - - 00 0 - 0 - 0/0 00 - 100 0.0
3 wE 5 m M m m M|[5 2 0 400 040 |1/ 0 0 00 |o - 19 02 7 6.6 100 0.0
5 [ L mst i 5/L L L L L|]O|O O - - 00 0 - 0 - 0 0/0 0 - 187 3 412
7 +BE A— 2 oo 00 0 - - 00 0 - 0 - 2/0/ 0/ 1] 125 o]0 o -
8 =F Bth 4 OO m m|13 5|0 385 .25 |3/ 1,0 33 |0 - 132023 1.3 [1 0 1 5.0
9 PSR A 2 00 41 2] 250 050 |0 00 - 10 05 [1 0/ 1/0 -250 |3 1 1] 500
10 #_T & 5 m W ®m W W[5 19 1 358 3.80 |10 0 00 1) 020 |14 1 2|5 125 [3117 5 629
12 E Ht 5 M W W H M|21 10 1 476 200 |0 0 0 - 6| 1.20 |13 0/0 5 9.6 220 100.0
13 EH B 1 ofofo o - - 00 0 - 0 - 0/0 00 - 00 0 -
14 AIF EE 5 M WM W N M|33 14 2 424 280 |1 0 1 00 |0 - 101 6 9.6 |34 17|5 57.4
15 Beruk Endale Sertsu 3m mm 19 3 1 158 100 |2 1 1] 50 |1 03 |6 01 3 8.3 00 0 -
16 Hl % 5 M M m m Mm|[19 5 2 23 100 [1/0]0 o0 10 020 |17 1 2|4 838 00 0 -
F—L&F 5 16759 9 353 11.80 |9 2 2| 222 |10 200 (102 4 11/36 100 [95 47 16 57.9
Histy Vi RNV ITEYY) Javy H—7 H$—JLi—J
JUNA H 78 & R s pe O PR N LI
Brri e slREE B L |ReE E R g |BRRE 2 BT 2
1] 12)
3 | C $RA Fnag 5 M W W H W[4 15 3 306 300 |1, 0/0 00 [2 040 |15 1 0 4| 133 |25 10/8 560
4 BB K% 5 M M W H Mm|[2 8 3 364 1.60 [1 0/ 0| 00 |3| 060 |21 1|4 8 9.5 100 0.0
8 WA B 5 M WM W m m|[13 3 2 231 060 |0 0 0 - 3 060 |15 0 0 5 8.3 220 100.0
10 | L s EX 5 L L L L L|]O 0 0 - - 00 0 - 0 - 0/0 00 - 298 7 39.7
11 HEE EA 5 m M m m M|[4 1 0 250 020 |0 0 0 - 1 020 |15/ 1 04 133 [0 0 0 -
13 IR $EER 5 M WM W N W[4 23 5 469 460 |13 4|2 308 [2 040 |16 1 4 2 3.1 100 0.0
14 HWHE B 5/ m m m o m W|36 17 1| 47.2 340 |5 20 400 [1 02 |26 1 3 7 7.7 |33 11| 6 424
F—L&E 5 173 67 14 38.7 1340 |20 6 2| 30.0 |12 240 (108 5 1130 9.0 [91 31 21 456
XtHEtEYy bv—0 0 B=RE—T425rA2nN— O=XAKEF L=UADO

THEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERY (F) =KRATHBEEY ¥

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




SINSY I SEE

HAEES 906

FER 2019/01/27

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEY 154 JURY : B FI8h F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS :  14:10 £ & TEE E#H HmEL 3 2 25 27 25 11
RTHEM: 15019 Bl E: EE M FISERK 0 1 13 25 13 51
HErmR 01:09 HIFEE: A% /I\=E S &HFR| 00:18 | 00:25 | 00:20 01:03
C g Vs NER R
1set 2set 3set 4set bset 1set 2set 3set 4set bset
5 1 6,5 1 12/ 5 1 6 #wAR FIH B X TE faxt M 18 1 /11 18 1 /11 18 1
(22) ILFF B a—F @0) (15) @0) (15)
212 1621 2 16/21 2 16 25508 & " 0f% 28K 14 19 5 14 19 5 14 19 5
(15) (15) (15) 4 B = 2 10) 10) | (10)
- 7‘.‘0 - - - 54 LT Js 6w s - -
i HE B EY: i R R & B £ SF i
RIEE (%) 49.4 79 39 1 Rk 87 31 12 35.6 RIEE (%)
REE (%) 40.0 5 2 1 (RN THRYY) 25 10 4 40.0 REE (%)
v FEH(R) 1.33 — 4 — Jowvy — 2 — 0.67 vy FEH(R)
SR (%) 9.7 75 4 10 H—7 53 1 15 -0.5 SR (%)
ARIIEE (%) 64.5 — — — H—JLi—J — — — 50.8 ARIIEE (%)
F—LTHI b+ 0 — 30 — HFEDIR — 17 — 3 F—LTHIE
154 77 17 &5t 140 51 21
Histy b TEvY (ISP EE PP Jovy H4—J H$—JLI—7J
= Hy - * 5 - O D e alwm B = TR g
3] L)
1 | ¢ KB 3 m Em 16,10 1 62.5 333 |0 0 0 - 0 - 17,036 44 [0]0 0 -
2 BiE 1 3 mEnm 2010 500 0.33 |0 0 0 - 0 - 12,0 0/8 167 [0/ 0 0 -
3 (L mmoRE 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 403 1| 815
5 A B4E 3 m mEm 229 2 409 300 |4 1|1 250 [1 03 |10 0 1 3 50 [19/9 3| 553
6 v DN 2 ' m [ 414 0/ 1000 200 |0 0 0 - 1005 [8 22 1] 219 |o 0 o0 -
8 FiE A 0
9 | L KR &’ 0
11 1Pk R 0
12 B R 1 ] 11,0 100.0 .00 |0 0 0 - 10100 [4 0/1 0/ =63 |0 0 0 -
15 WiE R 3 0o 0 00 0 - - 00 0 - 0 - 9.0 1 1 00 [0]0 0 -
16 ER BN 3m mm 2118 3 381 267 |1 1.0 1000 |1 03 [10 2 2 3 225 [15 9|3 700
17 FE HE 0
21 @ &E 3m mm 136 1 462 200 |0 0 0 - 0 - 4.0 0 1 6.3 00 0 -
22 BHE &M% 1 O 00 o0 - - 00 o0 - 0 - t/o/0/0o 00 [0 0 O -
F—L&F 3 7939 7 49.4 1300 |5 21 400 |4 133 |75/ 4 10/23 9.7 |38 21 7 645
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
Hy - ® 5 - % |o = e alw B e TR g
nasER 202005\ B8 E P BEE Z B oL BERE 2 2VY 2
] 5] 7 R
1 Wil E— 3/m mm 19 6|1 316 200 |4 1.0 250 |[o - 6 0 2 1| -42 |31 13 8 548
5 B R 3 m Em 101 0.0 0.00 |0 0 0 - 1903 [7 0 1 1 0.0 1.0 0 0.0
6 N E 0
10 BR =H 3 00 0 00 o0 - - 00 0 - 0 - 3.0/3 0/ 250 |0 0 0 -
1| ¢ M ant 3m mm 370121 7 32.4 400 |21 9 4 429 |o - 9 12 2/ 111 Jo 0o o0 -
12 | L #E s 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 15 4|3 367
14 A0 # 3 m Em 1031 300 100 [0 0o - 0 - 5 02 1| -50 |17 8 4 588
15 WA RE 2 oo 00 0 - - 00 0 - 0 - 3.0 011 00 [0]0 0 -
18 BE £ 3/m mm 6 4 1 667 1.33 [o 00 - 1003 |[6 02 1| -42 |o 0 0 -
19 "N 3 m m m 14,61 429 200 |0 0 0 - 0 - 1200 23 2.1 00 0 -
20 BT fth 2 o O 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 JOo 0 0 -
F—L&E 3 87 31 12 35.6 10.33 |25 /10| 4| 400 |2 o067 |53/ 1/15/10/ -0.5 |64 25 15 50.8

Xty bv—

W= —TFT 4T A2\—

O=%REF L=YU~0O

TRYIREE (%) =FR+

FT# % 100

TEYIRERY (F) =BR-HHEY b
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




SINSY I SEE

AEES 907

FER 2019/01/27

BIfeth BRER AP

FIRZEOAFNL—R—ILREEXEBRBEFRE 5 ZZUFJIRTHRI S THREE
HEY 156 JURY : B FI8h F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS : 1550 £ B: XHF #17 TA—NILERU R 0 1 20 21 22 63
WTERD: 17:02 Bl T/ AR #338 =%UFJSRTT 3 2 25 25 25 75
HErmR 01:12 HIFEE: RN HF S &HFR| 00:20 | 00:23 | 00:23 01:06
TA—NILR X VS =SUFJIRTT
1set 2set 3set 4set bset 1set 2set 3set 4set bset
W17 1417 1417 W E£h B X B &= 120 4 1 20 4 1 20 4
5 @ m a2 a—F =i E (8) (8)
8 3 15 8 3 5/8 3 5 Of% 28K & " 25508k 10 15 13 10 15 13 10 15 13
2 B = 4 0] m m
1tﬂ gig 1%w - PR 1%w éﬁs - - -
i HE B LY BT R & B £ SF i
RIEE (%) 35.1 94 33 15 Rk 91 39 4 42.9 RIEE (%)
REE (%) 14.3 14 2 4 (RN THRYY) 7 3 2 42.9 REE (%)
v FEH(R) 2.33 — 7 — Jowvy — 4 — 1.33 vy FEH(R)
SR (%) 14.2 65 6 8 H—7 73 2 10 1.5 SR (%)
ARIIEE (%) 52.4 — — — H—JLi—J — — — 56.4 ARIIEE (%)
F—LTHI b+ 7 — 17 — HFOIR — 30 — 3 F—LTHIE
159 63 23 &5t 164 75 14
Histy b TEvY (ISP EE PP Jovy H4—J H$—JLI—7J
74— Ry R i dex 2 7 lnesx 2 le 7 lyexs 2 (235 @
e gr2s e sg R £ iifgiﬁaigmg
1 NG ST 2 oo 00 0 - - 00 0 - 0 - 3,000 1 83 [0/0 0 -
2 #ME BA 0
3 Kl AKER 3 mEm 2 5 3 227 1.67 |8/ 1|1 125 |2 o067 |13/3 1|4 288 |3 0 2 333
4 mo Bz 1o 2 1.0 500 100 [o oo - 0 - 0 0/0 0 - 00 0 -
5 ER AL 30O m m 8 3 0 315 100 [0 00 - 0 - 8 01 0/ =31 |2 0 1 250
6 | L $7E mR 1L 0o o0 - - 0o o0 - 0 - 0 0/0 0 - 30 2| 333
7 i 15 3 mEm 2 1.0 500 033 |0 0 0 - 0 - M/ 1.3/6 159 [0/0 0 -
8 A A 3 m mm 197 4 368 233 |0 0 0 - 0 - 8 21 4| 344 |32 17 1 547
10 Heh & 0
1 w2 EE 3 mEm 2 6 7 21.3 200 |5 1.3 20 [3 10 |9 0 0 2 56 [0 00 -
12 [c wm & 1 O 00 0 - - 00 0 - 0 - 1o/ 10 20 [0 0 0 -
13|L B2 Rs 2 L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 23 11 4 | 56.5
14 BA KiE 3 mEm /6|1 545 200 |1 0 0 00 |2 067 [6 0 1 1 00 [0]0 0 -
15 hE HE 1 m 8 4 0 500 400 |0 0 0 - 0 - 6 00 3| 125 o 0 o0 -
F—L&F 3 94 133 15 35.1 11.00 (14 24| 143 |7 233 |[65/6 |8 21| 142 |63 28 10 52.4
Histy Vi RNV ITEYY) Javy H—J H$—JLi—J
==UFJeRss H . = E / | 3 . o e B g
=R 202005\ B8 E P BEE Z B oL BERE 2 2VY 2
] 5] 7 R
1 mE B 3 mEn 34171 | 50.0 567 |4 3 0 750 [0 - 151 26 133 [23/11 2| 522
2 C HE ER 0
3| L o EA 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 1811 1 63.9
4 I8 &= 3 mmEn 1030 300 100 [o 0o - 103 [8 1/0 1| 156 |0 0 0 -
5 Bt 18— 0
7 B — 300 0 00 0 - - 00 o0 - 0 - 5 02 1| 50 |o 0 0 -
8 =0T % 2 o o 00 0 - - 00 0 - 0 - 5 0/0 2/ 100 |Jo 0 0 -
10 ik HE 3 m Em 1460 429 200 |0 0 0 - 1003 [4 0/0 2| 125 |1 0 1 500
12 SRE R 0
13 A B 3 mEm 14,5 2 357 .67 |2 0 1 0.0 |0 - 16,0 2|8 9.4 |12 6 2 583
15 hE BE 3 mmm 156 1 40.0 200 |10 1 0.0 1003 |7 0 0 1 36 [0/0 0 -
17 | L 8 B— 0
19 R 0
20 HE Hth 3 m mm 412 0/ 500 067 |0 0 0 - 103 [1330/4 3| -1.9 |1 0 0 00
F—L&E 3 9139 4 429 1300 7 /32| 429 |4 1.3 [73/2/10/24| 7.5 |5 28 6 564

Xty bv—

=RB—TFT AT AN~

O=%REF L=YU~0O

THEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERY (F) =KRATHBEEY ¥

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (BRIE] x 100+ [R] x50) +T#

KAEDEEEE. 2BHREABRNL—R—LBRITRELES,




	Report_0127-C1
	Report_0127-C2
	Report_0127-C3
	Report_B1-901
	Report_B1-902
	Report_B1-903
	Report_B1-904
	Report_B1-905
	Report_B1-906
	Report_B1-907

